beaudoin

www.beaudoinbeds.com

Instructions d'assemblage de votre nouvelle base de lit Ultimax
Instructions for Assembling your New Ultimax Bed Frame

FELICITATIONS! \Vous venez d'acheter un produit de qualité fait au Canada avec fierté.
Merci. Maintenant, a I'assemblage! C'est trés facile.

CONGRATULATIONS! You have purchased a quality product proudly made in Canada.
Thank you. Now, let's assemble your new bed frame. It is really easy to do.

Quincaillerie incluse Ajout pour assemblage Hardware Included  Addition for nuts and
& bolts assembly (1200)
4 boulons de carrosserie /6" x 34"  S€TOUS et boulo?s (12(30) 4 carriage bolts °/16” x 3/4” 5 “y 3/
4 écrous /6" 4 boulons /16" x 3/4 4 nuts 56" 4 bolts 5/16” x 3/
écrous °/16 4 écrous 516" uts =/1e 4 nuts /1"

2 angles protecteurs 11/2” 2 angle protectors 11/>”

4 boulons /4" x 2 1/2" Si installation d'une téte 4 bolts/a" x 21/2" If installing a headboard
2 boulons /4" x /2" 4 boulons /47 x 2 /2" 2 bolts /4" x /2" 4 bolts /a” x 21/2”
6 écrous /4" 4 écrous /4" 6 nuts /4" 4 nuts '/a”
6 rondelles 4 rondelles 6 washers 4 washers

Déplier les supports de téte et pied rivetés pour former un angle
de 90° avec les grands cotés.

Spread out riveted head and foot bars to form a 90° angle with
long side bars.

Insérer les roulettes ou les pattes.
Insert rollers or legs.

systeme d'enclenchement rapide (pour la Ultimax 1000-1100) ou
les écrous et boulons °/16” x 3/4” (pour la Ultimax 1200).

Join both halves of head support, and both halves of foot support,
according to box spring format, using keylock assembly system
(for the T000-7100 Ultimax) or using the bolts and nuts assembly
system with the °/16” x 3/1+” bolts (for the 1200 Ultimax).

Assembler les deux parties du support de téte, et les deux parties
3 du support de pied selon le format de sommier, en utilisant le

~7
T
(9



Fixer le support de centre de la téte au pied avec les boulons
de carrosserie 5/%” x 3/4” et les écrous pour les fixer, sans serrer.
Install centre support from head to toe, using %/ ” x%”
carriage bolts and nuts to attach, without tightening.

Installer le sommier sur la base de lit. Faire un ajustement final
au niveau de la largeur et serrer les écrous.

Install box spring on bed frame. Make final width adjustment,
and tighten bolts.

Installer les coins de protection aux extrémités.
Install angle protectors at extremities.

Siinstallation d'une téte de lit, utiliser les boulons /4" x 2 /2", les
rondelles et les écrous pour fixer la téte a la base. Si installation d'un
pied de lit, utiliser les boulons /4" x /2", les rondelles et les écrous
pour fixer I'extension a la base. Puis, utiliser les boulons /4" x 2 1/5",
les rondelles et les écrous pour fixer le pied a la base.

Ajuster et serrer les écrous.

If installing a headboard, use /4" x 2 /2" bolts, washers and screws to
attach it to the bed frame. If installing a footboard, use /4" x /2" bolts,
washers and screws to attach the footboard extension. Then, use
/4" x 2 1/>” bolts, washers and screws to attach it to the bed frame.
Adjust and tighten bolts.

www.beaudoinbeds.com

flin]©





